| N of associated (recoToSim) looper tracks vs dxy(PV) |

<P
£
O
1<
>
N
-2
e}
X
Jos
@
=
1©

-5

| N of associated (recoToSim) tracks vs dxy(PV) |

N of reco track vs dxy(PV)

S5 =15 =10

10 15 20

5
track dxy(PV) (cm)

0

=3

-20 -15 -10

1615 20

5

0

S)oel) ansy

=20 -15 -10 -5

0.

1615 20

5

track<heyfAV) (G, : 1o

0

5

syoen

996 15 —10

0.

0 02 04 06 038
track dxy(PV) (cm)

-0.6-0.4-0.2

R

N of reco track vs

0 02 04 06 08

0.6 -0.4-0.2

)
-
syoel axey

—%.8—

soesy ani

1
0.

=0.8-0.6-0.4-0.2 0 0.2 04 0.6 08

syoen

L
0.

-0.8-06-04-02 0 0.2 0.4 0.6 08

track dxy(PV) (cm) track dxy(PV) (cm)

track dxy(PV) (cm)

| N of associated (recoToSim) looper tracks vs dz(PV) |

[N of associated (recoToSim) tracks vs dz(PV) ]

N of reco track vs dz(PV)

10 20 30
track dz(PV) (cm)

0

10~
10

20 30
track dz(PV) (cm)

10

0

10 20 30
track dz(PV) (cm)

0

10 20 30
track dz(PV) (cm)

0

-10

-20

0

5
=3

| N of associated (recoToSim) looper tracks vs dz(PV) |

[V of associated (recoToSim) tracks vs dz(PV) ]

N of reco track vs dz(PV)

o

oney

syoen

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


